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EE BHABXTH HIZEITH 0.20 91 0 0 0 0 0 0 0 91 0@k FEF049457H 208
28 AKX HEE1T B 1.30 3 3 2 5 0 0 0 0 5 87l BF1514E9 A 9H
28 RHABXT AE2TH 0.20 1 1 0 0 0 0 0 0 1 137K FRFI515E9A9H
28 BABEXH FEITH 0.90 1 1 0 0 0 0 0 0 1 1[&7 BF1514E9 A 9R
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8 RHABXT /MUSTH 0.20 1 1 0 0 0 0 0 0 1 1{AK FRFI515E9A9H
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28 A KT < | LIAT 0.10 1 1 0 0 0 0 0 0 1 17 BF1574E11 5308
EE RHABXT EE1TH 0.10 3 3 0 0 0 0 0 0 3 3|AK FBF0574F11 5308
28 HABRXT J\IBET3T B A7) FAF06247H25H
8 RHABXT EE1TH AK FRF1624%7H 258
Z8) A KT HIZEITH Al IBF0624E7H 258
28] RABRT HIZEATH 0.92 31 30 2 0 0 0 0 0 33 30[ K BFn6257 8258
Z8) A KT HIZEST B Al IBF0624E7H 258
28/ RABRT AR3TH Ak 06247 H 258
Z8) A KT TE3TH Al BF62%E 715258
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